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1. Solve the differential equation. (15%)
4y* + 3sin(x) + (16y3x — 3sin(y))y’ = 0

2. Solve the differential equation. (15%)
y'+3y' +2y=e"*+6.

Use the Laplace transform to determine the response y(t) of the system under a square wave

3.
where u(t) is the unit step function or Heaviside function. (20%)
y' + 2y =ut) —ul—1), y(0) =0.
4.  Find the eigenvalues and corresponding eigenvectors of the following matrix. (15%)
2 0 0
A=)2 0 1
0 0 3

5. Find the area if the vertices are (2,1,3), (5,4,6), (7,8,9). (15%)

Find the Fourier transform of the function. (20%)
F&) = e=3ie=2),



